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SCIENCE
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Time allowed : 3 hours | [ Maximum marks : 80

e aag ; 3 gu2 ] [ SfEewan 31 - 80

General Instructions :
(i) The question paper comprises of two sections A and B. You are to

attempt both the sections.
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i)

All questions are compulsory.

(iii)  There is no over all choice. However internal choice has been

~ provided in all the three questions of five marks category. Only one
option in such question is to be attempted.

(iv) Al quesliohs of section A and all questions of section B are to be
attempted separately.

(v)  Question numbers 1 to 4 in section A are one mark questions. These
are to be answered in one word or one sentence.

(vi)  Question numbers 5 to 13 are two mark questions, to be answered in
about 30 words each.

(vii) ~ Question numbers 14 to 22 are three mark questions to be answered
in about 50 words each.

(viii) Question numbers 23 to 25 are five mark questions, to be answered

- in about 70 words each.

(ix)  Question numbers 26 to 41 in section B are multiple choice
questions based on practical skills. Each question is a one mark
question. You are to select one most appropriate response out of the
four provided to you.
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SECTION A
HTT A

How many covalent bonds are there in a molecule of ethane, C,Hg ? 1

399 3 3T, C,H, ¥ fora wgearsll sTara 2 € ¢

What is Tyndall effect ? ' o 1
Reammawngars? '
What will happen if we kill all the organisms in one trophic levél ? 1
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SECTION A
HET A

How many covalent bonds are there in a molecule of ethane, C,Hg ? 1

399 % 31, C,Hs, ¥ e Tewisht e gia € 7

What is Tyndall effect ? ' o 1
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What will happen if we kill all the organisms in one trophic levél ? 1
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Why did United Nations act to control the production of chlorofluoro-
carbons (CFCs) used in refrigerators ?

wftaent ¥ TgH FARRGR ®eAl (CFCs) ‘35 ITH ﬁ fafET =1 % ol
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()  How do you calculate the possible valency of an element from the

electronic configuration of its atoms ?

(1)) Calculate the Valency‘of an element X whose atomic number is 9.
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How does the electronic configuration of an atom of an element relate to its
position in the modern periodic table ? Explain with one example.
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State the two laws of reflection of light.
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What is meant by the dispersion of white light ? Draw a diagrarn to show
dispersion of white light by the glass prism.
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10.

11.

12.

13.

Explain why the planets do not twinkle but the stars twinkle.

TS T T8 T AT AT Safer aR feafenie & |

Write any two differences between binary fission and multiple fission in a

tabular form as observed in cells of organisms.
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Explain giving one example of each, the unisexual and the bisexual :

flowers.
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List any four characteristics of a good fuel.
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What are non-renewable resources of energy ? Give two examples of such

~ TESOUrces.

14.
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Write one chemical equation to represent each of the following types of

reactions of organic substances :
(i)  Esterification
(ii)- Saponification

(iii) Substitution
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16.

17.

Draw the ray diagram and also state the position, the relative size and the
nature of image formed by a concave mirror when the object is placed at

the centre of curvature of the mirror. 3
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Define, ‘refractive index of a transparent medium.” What is its unit ? Which

has a higher refractive index, glass or water ? 3
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18.

19.
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What eye defect is hypermetropia ? Describe with a ray diagram how this

defect of vision can be corrected by using an appropriate lens. 3
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(a)  List two sextially transmitted diseases in each of the following

cases : ‘ 3
(1) Bacterial infections

(i1) Viral infections

(b) How may the spread of such diseases be prevented ?
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20. Explain with examples how the following are evidences in favour of

evolution in organisms. : 3
(i)  Homologous organs

(i) Analogous organs
(iii) Fossils
Wéﬁﬁtmﬁﬁﬂuﬁmmws@aﬁﬁﬁm%uﬁaﬁ%:
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21.  Explain the terms : 3
1) Speciation

(i) ~ Natural selection

7 v AR
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Explain _how equal genetic contribution of male and female parents is

22,

ensured in the progeny.
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23. (a) In a tabular form, differentiate between ethanol and ethanoic acid

under the following heads :
(1) Physical state
(i) Taste
(ii)) NaHCO; test
(iv) Ester test

(b)  Write a chemical reaction to show the dehydration of ethanol.

OR

(a) | What is a soap ? Why are soaps not suitable for washing clothes
when the water is hard-?

(b)  Explain the action of soap in removing an oily spot from a piece of
cloth. . '

() =ER &Y F fr et ¥ egER wiRte o uiEE e § atw
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(iv) TETwlEm
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24. (a) [Ifthe image formed by a lens is diminished in size and erect, for all

positions of the obJect what type of lens isit?

(b) ~ Name the point on the lens through whlch a ray of hgh‘r passes

undeviated.

(c) An object 1s placed perpendlcular to the principal axis of a convex .
lens of focal length 20 cm. ‘The distance of the object from the lens 18
30 cm. Find (i) the position (i) the magnification and (iii) the nature

of the image formed.
OR

(a) One-half of a convex lens is covered with 2 black paper. Will such a
. lens produce an image of the complete object 2 Support your answer

with a ray’diagram.
(b) An object 5 cm high is held 25 cm away from a converging lens of -
focal 1.ength 10 cm. |
(1) Draw the ray diagram and

(ii) Calculate the position and size of the 1mage formed.

(iii) What is the nature of the image ?
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25.
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(2)

(®)

(2)

(b)

(a)

(b)

(a)

(b)

Draw a diagram of the longitudinal section of a flower and label on

it sepal, petal, ovary and stigma.

Write the names of male and female reproductive parts of a

flower.

OR

What is fragmentation in organisms ? Name a multicellular organism

which reproduces by this method.

What 1s regeneration in organism ? Describe regeneration in Planaria

with the help of a suitable diagram.

T A il g HIe H o S R IW W 9T IA (sepal),
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SECTION B
’ HO A

26. To find the focal length of a concave mirror Rahul focuses a distant object
with this mirror. The chosen object should be : ' 1
(1) atree
(2)  abuilding
(3) awindow

(4) thesun

T 1A qUUT ol hishd g 9T A o il T o 39 SUU 3T Uk gk o
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(1) Us3I"
@
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27.  For finding the focal length of a convex lens by obtaining the image of a

distant object, one should use as the object : : 1
(1)  awell lit distant tree

(2) window grill in the class room

(3) any distant tree

(4) alighted candle kept at the other end of the table

31/1/1 13 - [P.T.O.
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28. Mohan obtained a sharp inverted image of a distant tree on the screen
placed behind the lens. He then moved the screen and tried to look through

the lens in the direction of the object. He would see :

(1)  ablurred image on the wall of the laboratory.
(2)  an erect image of the tree on the lens.
(3)  noimage as the screen has been removed.

(4)  an inverted image of the tree at the focus of the lens.
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.29.  Four students A, B, C and D traced the paths of incident ray and the
emergent ray by fixing pins P and Q for incident ray and pins R and S for
emergent ray for a ray of light passing through a glass slab. 1

P\ N P\* |
A\ NS
| Student A \is e Student B &S

PN\ P s
S
Q Q R
Y.
Student C / R - StudentD
S
The correct emergent ray was traced by the student :
(1 A
@ B
3 C
@ D
311 | | 15 o [P.TO.
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Rahim recorded the following sets of observations while tracing the path of

a ray of light passing through a rectangular glass slab for different angles of

incidence.
. Angle of Angle of Angle of
S. No. e .

incidence refraction emergence

I 45° 41° 45°

II 40° 38° 38°

III 45° 41° 40° -
vV 41° 45° 41°

The correct observation is recorded at serial number : 1
(1) I
2 1
(3) I
4 1V
U TS ToRor o fafirs muas Fivl W T AR ST Wi ° 9 e %
ford T 3 iy sraretien ford | |
ERRe e TG HIYT IS I fentett =
I 45° 41° 45°
11 40° 38° 38°
111 45° 41° 40°
v 41° 45° 41°
L eI o ShH T :
(1) I |
(2) =
(3) 1o
(4) V&
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31. The colour of an'aqueous solution of zinc sulphate as observed in the

laboratory is :

(1)  Green
(2) Yellow
(3) Blue

(4)  Colourless
T # faderr S1ge s wete & S e s T g -

(1) T

@ en
(3)  Hfem
4) TER

32. To show that zinc is a more active metal than copper, the correct procedure

s to :

(1)  add dilute nitric acid on strips of both the metals.

(2) oi)serve transmission of heat through strips of zinc and copper.
(3)  prepare solution of zinc sulphate and hang strip of copper into it.

(4)  prepare solution of copper sulphate and hang strip of zinc into it.

forn & e et w1 %, 7 et o
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3.
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Acetic acid smells like :
(1) abanana

(2)  vinegar

(3) anorange

4) a lemon

Tehifesh et < T B R -
'(1) T ot
) Tk S
(3) TS
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Acetic acid solution turns :
(1)  blue litmus red

(2) red litﬁus blue

(3)  blue litmus colourless

(4)  red litmus colourless

Uit et s oo e R

(1) et forema =t are
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@) e e w1 o
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35. On adding NaHCO; to acetic acid, a gas is evolved which turns 1imé water

- milky due to the formation of :
(1)  Calcium bicarbonate
(2)  Calcium hydroxide
3) * Calcium carbonate

(4)  Calcium acetate

siiees WﬁNaHCO3mﬁm@ﬁ@ﬁmﬁ%iﬁ;ﬁﬁ%w:ﬁWﬁ
et @ | SFTOT BTl & S |
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(2)  HfcH FEGTHES H
(3)  hicHaH e
(4) Howm Ye H

36. A yeast cell in which budding occurs was\seen to have :
(1) one budcell
(2)  twobud cellr
(3)  three bud cell

(4)  achain of bud cells

3 ' 20
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37. A student was given two permanent slides, one of binary fission in
amoeba and other of budding in yeast. He was asked to identify any one
difference in the nucleus of the two. One such difference, he identified

correctly was : ,v 1

(1)  Presence of one nucleus in amoeba, two in yeast cell and one in
-bud., :

(2)  Presence of two nuclei in centrally constricted amoeba, one in yeast

cell and one in its bud.

(3)  Presence of two distant nuclei in amoeba, one in yeast cell and two
in bud.

(4) Presence of a single nucleus each in amoeba, yeast cell and its
attached bud.

31/1/1 | 21 ' [P.T.O.
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38.

m

31/1/1

Binary fission is observed in which one of the following figures ?

A
@ B
@ C
@ D

22



1) A
2) B
3 C
@ D
39, To determine the percentage of water absorbed by raisins, raisins are
. ,soaked in water for : - R 1

(1) f 30 seconds ;
2 10 _mmutes
(3) 2 to 3 hours

4 24 hours
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40.

Raisins are wiped off gently before final weighing with help of :

(1)

@

41.

31/11

3)
“)

a filter paper
a cotton piece
a cloth piece

a polythene piece
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The step(s) necessary for determining the percentage of water absorbed by

raisins is/are :

(D
2
€)
4

Raisins should be completely immersed in water
Raisins should be soaked in water for sufficient time
Gently wipe dry the soaked raisins

All of the above steps
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